R 15 (5 135 B94R)

A F (=B #H &

TEMFE Btk &) 4,968,000 [ | A BRAGRS (Bitk <) 4,411,500 1
T L » & SERSUVERE MR RARZAOR T T T I L T7ESETE
A L (B B ) &% Mm244E2H 10H e,
¥ J Ok
73) H i 8 IRF 30 57 o4 AN #L
AL R A fL (HEE) A %2 ] 3 [a]
K % 4 o OANFL (RAE) 4z o AFL (HFS) 4 %8 e
M
CA) HFn ey g 4,781,000 8
T AR RN RS 2 FE] - 72 72 8
(/) 1A 4,347,000 3 N
wAHED L
(FF) ZEATGRE 4,649, 000 7 * KL
T AR BRAT RS 2 FE] - 7= 728
() F 73 et 4,284,000 1 N
H R () 4,914,000 9
T AR RN 2 FE] - 72728
(KR) B ples% 4,350,000 4 N
PR (BR) TR
(F) VB TR
PN AR (RR) TR
() 1A, BB (2H10B )
FAK ] BRAM A% 2 R [El - 72728
E FiE i (R) 4, 400, 000 6 N
FAK ] BRAM A% 2 T [El - 72728
B) Rk i 4,375,000 5 N
A BRAM A% 2 T [El - 72728
) BARLTHIE 4,309, 000 2 N




	0210-1

